W [ Volume

Name Class Date

a A rectangular prism has a length of 7 cm, e Each small cube has a volume of 1 cm2.
a width of 4 cm, and a height of 2 cm. What is the volume of the block
What is the volume of the prism? shown?
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e A juice box is 11 cm tall, 5 ¢cm long, and o A book has a length of 10 inches, a width
4 cm wide. What is the volume of the of 8 inches, and a height of 2 inches.
juice box? What is the volume of the book?
V=£-w-h -wm.
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B 43 cm?® D 120 cm? D 585in.?
e Eachamallotibe hag 4 voluihe jof Tign @ What is the velume of the rectangular
The volume of the block shown is prism shown?
30 cm?.
V=£ -w-h
V=£ -w-h
A 175 cm3
A true B 200 cm?
Brieg C 225 cm?
D 400 cm?3 8 cm
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